General Instructions :

Read the following instructions carefully and strictly follow them :

(i)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

Questions no. 1 tp IW % e Chor (@%)%pe Questions, carrying

1 mark each.
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56/C/1

This question paper contains 35 questions. All questions are compulsory.

This question paper is divided into five Sections - A, B, C, D and E.

In Section A - Questions no. 1 to 18 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 19 to 25 Very Short Answer (VSA) type questions,
carrying 2 marks each.

In Section C - Questions no. 26 to 30 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

In Section E - Questions no. 33 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

There is no overall choice. However, an internal choice has been pxoyided in
2 questions in Section B, 2 questions in Section C, 2 questwnscs % D and
2 questions in Section E.

Use of calculators is not allowed. tesa-\

91 18x1=18
Cgog Q‘\e compound ore a01d1c than phenol :
(a)  o-nitrophenol ethanol
(c) o-methylphenol (d) o-methoxyphenol
Which of the following reactions is a halogenated exchange reaction :
(a) >C=CT+HX — >C-c<
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TSR] 3TEY [HGId sl Tk hid gT T HIfT 1+1+1
(a) " FA [Co(NH;)gl3* o hrgrd €Tq WA 1 HH |
(b)  THeh! ITehId 3TN Fraehd AR |
(c) 98 3= YTV H%hd 7 YT 1 TR T |
[FRETY] SRHTeh : Co = 27]

(a) S § UHIReH 3 o o fou 3T |fiehtor & TR, I8 WA g¢ Tk
Fg qUid: WM B T 7, A B Uk T A I HIT :
2CHZ;COOH = (CH3COOH),
(b) TH 0-05 L foreiad W 3:5 g W Heft g8 & | 310 K W 38 faersq =

JET 2 0-035 atm @ | TIEH o HIG eI <Rl Yiehadd <hifolT | 1+2
(R = 0-0821 L atm K1 mol™})
cO uk
Frferfaa it 3 & el a7 3 I A Sa\e' 14141
et 3 fore s df NO e 2

(a) gl AP m W%@‘\%T g@ Td BIESIAIeh 3T

(b) T Yfatsies e § fao gt €
(c) Uil & e erfufsran # fufdia e Bt @

(d) T T TE soegRe faeme stfufshamsti § stfel- ve du-fadere
g @, T oft Ufefia ATsgeRtor grn e /e | HerArsgrufety ol
g

(a) (1) e Ufehd aase Syl kAT s o1 § &RI1 <d & ?
(i) Yfdfss ®9 (TAfFeaR) =t afenfya Hime |
(iii) FARIBIH I TE T H IYEg Taal | T T ATl 8 ? 1+1+1
YT
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Using valence bond theory, predict : 1+1+1
(a)  Hybridisation of central metal atom of the complex [Co(NH3)6]3+
(b)  Its shape and magnetic behaviour.

(c) Whether it is a high spin or a low spin complex.

[Atomic number : Co = 27]

(a)  Find the value of van’t Hoff factor for acetic acid in benzene as per
the given equation :

2CH3;COOH = (CH3COOH),, assuming its complete association.

(b)  Osmotic pressure of a solution containing 3-5 g of dissolved protein
in 0-:05 L of a solution is 0-035 atm at 310 K. Calculate the molar

mass of the protein. (R = 0-:0821 L atm K1 mol 1) \4 1+2

\e OO
Answer any three of the following qu ﬁsao‘fesa-

(a)  Redueti wh {n crap ax&s@l Q‘J‘eferred for the preparation

1+1+1

Give reasons for the follow

g Lower aliphaticdamines are soluble in water.
Pyridine is used in the acylation reaction of amines.

(d)  Although amino group is o- and p-directing in aromatic
electrophilic substitution reactions, aniline on nitration gives a
substantial amount of m-nitroaniline.

(a) (1) Why do tertiary alkyl halides undergo Syl reaction at a
faster rate ?

(11) Define Enantiomers.

(iii)) Why is chloroform stored in dark coloured air tight
bottles ? 1+1+1
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